CrRNZLY FO/L

BOARD FIXING




BOOTS POSITIONING & BOARD FIXING

M8 NUTS (4)
M8 60 (2)
TOP PLATE +
MAST BASE M8 30 (4)

YOUR BOOTS YOUR BOARD
M6, WSCHER AND
ALLEN KEY M8 BUTTERFLY NUT (2)
TAPE ALLEN KEY M6
BIT 8mm

BIT 6mm

30



REAR BOOT

DRILL 6mm HOLE ON THE
BACK SIDE OF THE BOOT

FIX THE FRONT SCREW OF THE
REAR BOOT TO THE BOARD

31



REAR BOOT

INSTALL M6 SCREW AND
WASHER UNDER THE BOARD

‘ - S —
e e A ® € cobm

TIGHT THE SCREW

S -~

INSTALL BUTTERFLY NUT ON
TOP TO FIX THE BOOT

REAR BOOT IS
INSTALLED

32



FRONT BOOT

SELECT INSERT FOR YOUR
COMFORT

\\ / <
' ) z
. g\

FIX THE FRONT SCREW OF THE
FRONT BOOT TO THE BOARD

DRILL 6mm HOLE ON THE
BACK SIDE OF THE BOOT

33



FRONT BOOT

INSTALL M6 SCREW AND INSTALL BUTTERFLY NUT ON
WASHER UNDER THE BOARD TOP TO FIX THE BOOT

g -

FRONT BOOT IS
INSTALLED

TIGHT THE SCREW ”



BOARD

BOARD
CENTER

POSITION TOP PLATE ON THE BOARD, MIDDLE OF IT DRILL 4 CORNERS WITH 8mm BIT,
25cm FROM MIDDLE OF THE REAR FOOT. USING TOP PLATE AS A TEMPLATE.
PLATE CENTERED AND ALIGNED WITH THE BOARD.

INSTALL M8 40 SCREWS ON 4 CORNERS.



TIGHT THE 4 CORNERS SCREWS

36



BOARD

X > Lol
DRILL 8mm MAST SCREW HOLE INSTALL MAST UNDER THE BOARD
USING BASE MAST AS A TEMPLATE AND M8 60 ON TOP

TIGHT THE SCREWS ON THE MAST YOUR HYDROFOIL IS

INSTALLED &





